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case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
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Directions :

The following seven (7) items consist of two
statements, statement I and statement II.
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Code

fa) Both the statements are
individually true and
statement II is the correct
explanation of statement I

(b) Both the statements are
individually true but
statement II is not the correct
explanation of statement I

(c) Statement I 1is true but
statement II is false

(d) Statement I 1is false but
statement II is true

1. Statement I :

The planet Neptune appears blue
in colour.

Statement 1I :

The presence of methane gas in
the atmosphere of Neptune is
responsible for its colour.

2. Statement ] :

Comets revolve round the Sun
only in long elliptical orbits.

Statement 1I :

A comet develops a tail when it
gets close to the Sun.
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. Statement I :

Pulling a lawn roller is easier than
pushing it.

Statement II :

Pushing increases the apparent
weight and hence the force of
friction.

. Statement I :

All compounds contain more than
one element.

Statement II :

All compounds are heterogeneous
mixtures.

Statement I :

Tsunami is small in open ocean
yet may be over 30 m high when it
reaches a coastline.

Statement 1I ;

Tsunamis have long wavelength
and they travel across the open
ocean at high speed. As they
approach shore, the wavelength
decreases and the wave height
increases.

. Statement I :

Operation Parakram involved the
mobilization of Indian troops along
India’s border with Pakistan,

Statement II

After the year 2001 Parliament
attacks, India wanted to pressure
Pakistan into acting against terror
groups operating from areas under
its control.
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7. Statement I :

India supports the development
and use of the Chabahar Port in
Iran.

Statement II :

India does not subscribe to
Western sanction on energy trade
with Iran.

8. The ‘Partnership Council’ was
launched in May 2012 to
implement the ‘Strategic
Partnership Agreement’ signed in
the year 2011 between India and

(a) United States
(b} China
(c) Maldives

(d) Afghanistan

9. The Indian Army  undertook
Operation Meghdoot to establish
Indian control over

(a) Sir Creek
(b) Aksai Chin
(c) Siachen Glacier

(d) Drass Sector

10. The Treaty on Integrated
Development of Mahakali River’
was signed between India and

(a}) Pakistan
(b} Nepal
(c) Bhutan

(d) Bangladesh

P-DETB-M-HL/66A

11. Farkhor Air Base, operated by the
Indian Air Force, is situated in
which one among the following
countries?

{a) Kazakhstan
(b) Uzbekistan
(c) Afghanistan

(d) Tajikistan

12. INS Vikramaditya scheduled for
induction into the Indian Navy soon,
is the name given to

(a) an aircraft carrier
(b) a nuclear submarine
(c) an amphibious assault vessel

(d) a stealth ship

13. In the year 2012, India undertook
its largest military exercise since
independence. This was named

(a) Yudh Abhyas
(b} Rudra Akrosh
(c) Sudarshan Shakti

(d) Shoor Veer
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14. Consider the following statements

about Sufism :

1. The Sufis were critical of
the dogmatic definitions
and scholastic methods of
interpreting the Quran and
Sunna (traditions of the
Prophet) adopted by the
theologians.

2. The Sufis sought an
interpretation of the Quran on
the basis of their personal
experience.

Which of the statements given
above is/are correct?

{a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

15. Model towns were created in India in

the 1950s with the object of

(a) providing urban planning skills
to local governments

(b) creating housing at affordable
rates

(c) paving the way for all inclusive
growth

(d) providing housing for those
displaced during partition and
be an example of good town
planning
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16. The first Indian ruler to be shown in

images as wearing a dress akin to
trousers is

(a) Chandragupta

(b) Ashoka

(c¢) Kanishka

(d) Samudragupta

17. Which one among the following is

not a function of Mir Bakhshi, the
head of the military department as
well as of the nobility under Mughal
rule?

(a) He made recommendations for
appointment to Mansabs to the
Emperor

(b) He  collected reports of
intelligence and information
agencies of the empire and
presented them to the Emperor
at the court

(c/) He was responsible for all
incomes and expenditures, and
held control over Khalisa, Jagir
and Inam lands

(dj He was responsible for the
security of foreign travelers on
the highways of the empire
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18. Which among the following 20. Surgeons can perform delicate
statements regarding the Gupta operations by using devices
dynasty is/are correct? through computers. This

1. The Kumaramatyas were the technology is known as

most important officers and (a) robotics
they were appointed directly

by the King in the home (b) simulation
provinces.

(c) forecasting
2. The \village headmen lost )
importance and land (d) computer forensics
transactions began to be

effected without their consent. 21. On the labels of the bottles, some

soft drinks are claimed to be acidity

Select the correct answer using the regulators. They regulate acidity
code given below : using

{a) carbon dioxide

Code : )
(b) bicarbonate salts
(@) 1 only (c/ both carbon dioxide and
bicarbonate salts
{b) 2 only

(d) carbon dioxide and lime

(c) Both 1 and 2 22. The gas which turns limewater

g
(d) Neither 1 nor 2 milky is
(a) carbon dioxide

19. The variability @ among living
organisms from all sources
including terrestrial, marine and (¢) ammonia
other ecosystems and the
ecological complexes of which they
are part which includes diversity
within species, between species of
ecosystems refers to

(b) carbon monoxide

(d) mnitrogen dioxide

23. When deep-sea fishes are brought to
the surface of the sea, their bodies
burst. This is because the blood in

their bodies flows at very
(a) geographical diversity

{a) high speed

b) zoological diversi
v & i (b) high pressure
(c) ecological diversity (c) low speed

(d) biological diversity (d) low pressure
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18. TH USEE & Wy ¥ Fefofed d @ 20. FF G FEA H TN F Al hedh
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EEE 5 3 avcltgar Fames 81 3 arcfiaar &
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(a) FEF TRIATTEE
(a) Had 1
(b) FTEHEHE AU
(b) Fa 2 (c) FEA TRIAEEE qUT AZHEME
AT ST
(c) 132 e (d) T SEaTRETEE aul I
(d) T 1MAA 2 22, 9% Ha, S 9 ¥ W A gRen W A
HrT-5 27
1o, <ifm i & R w @ @ 3, () FTH SRS
ot sufft, Wl ot g s @ (b) A HA-TTFETES

giitfeufos waftal wfte & e 3 9m

R e (0 s
il ¥ die fifdva o R, B (d) TTEISH SEATFES
fafds et 27
23, v« TR WYz H WSl 'R il WA W
(@) e fafaea ARt Sl ¥, 3T TR W S &) @
TfeTy R, ifh 3 TR # o
(b) Sia-sig <t e (@) &gd o= T @ e

(b) wgd A1 G T TEA &
(c) wga et nfq & == @
(d) e fafawm (d) < i I W TEA 3

(c) uitfeafas fafaumm
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24. It is difficult to cut things with a
blunt knife because

(a) the pressure exerted by knife
for a given force increases with
increase in bluntness

(b) a sharp edge decreases the
pressure exerted by knife for a
given force

() a blunt knife decreases the
pressure for a given force

(d) a blunt knife decreases the
area of intersection

25. Arrange the following tributaries of
river Brahmaputra from west to
east :

1. Lohit
2. Dibang
3. Subansiri
4

Tista

Select the correct answer using the
code given below :

Code :

(@) 4-3-2-1
(b) 4-3-1-2
(c) 3-4-2-1

(d) 2-4-3-1
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26. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-I1
(Hill Station) (Location in Map)

A. Dharamsala

B. Almora

C. Nainital

D. Darjeeling

Code :

(a) A B C D
1 2 3 4

(b) A B C D
1 3 2 4

c) A B C D
2 1 4 3

(d A B C D
2 4 1 3

27. The expression ‘South Asia’ usually

includes

(a) Bangladesh, Bhutan, India,
Maldives, Nepal, Pakistan and
Sri Lanka

(b) Nepal, Bhutan, India,
Afghanistan, China, Pakistan
and Sri Lanka

(c) Bangladesh, India, China,
Nepal, Japan, Pakistan and
Maldives

(d) Bangladesh, Bhutan, China,

Maldives, Nepal, Pakistan and
Sri Lanka



24, W 9% B S W @RS qRERd g, 26. G-I A FA-1I 4 GATAD HIT qo

ERIIED et & e fau Y 2 w1 @ R wd
Wﬁﬁﬁ:
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. it 87

() SR, M, MRd, ATded, 9T,
He . arfereard w St
(@) 4-3-2-1 (b) AU, MW, WRA, STHIEAH,

| <, arfoream @ Aftem

(b}‘ 312 (c) SR, WRd, HH, A9, S,
(c) 3-4-2-1 TR O HIee

(d) STARY, MM, M, AAE, 9,
(d): 2-4-3-1 qifsreaT wa el
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28. Which one among the following

statements about the functioning of
political parties in a democracy is
not correct?

(a) Political parties give political
education to the people

(b} Political parties serve as a link
between the government and
the people

(c) Political parties fight elections
and try to get the maximum
number of their candidates
elected

(d) None of the above

29, Delimitation of constituencies and

determination of constituencies
reserved for SCs and STs are done
by

(a) Election Commission
(b) Delimitation Commission
(c} Planning Commission

(d) Election Commission with the
assistance of Delimitation
Commission

30. Which one among the following

statements about Veto Power with
regard to United Nations is correct?

{a) One veto can stall a Security
Council resolution

(b) 1t is a kind of positive vote
power

{c) The Secretary General uses
this power when not satisfied
with any decision of the
Council

(d) All the members of the Security
Council possess the veto power

P-DETB-M-HL/66A
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31. Which one among the following

is not a recommendation of the
Sarkaria Commission on the
appointment of the Governor in a
State?

(a) He/She must not have partici-
pated in active politics at least
for some time before his/her
appointment as Governor

(b) The Chief Justice of the
Supreme Court may be
consulted by the President in
selecting a Governor

(c/ The Governor’s term of office
of five years should not be
disturbed except very rarely

(d) The Governor should not be
the native of the State

32, Which one among the {ollowing

nuclear-capable countries has a
declared No First Use policy?

(a) United States of America
(b) People’s Republic of China
(c) Pakistan

{d} Russia

33. The year 2002 Code of Conduct

related to territorial and maritime
dispute in the South China Sea was
signed between China and

(a) Philippines
(b) Vietnam
(¢) United States of America

(d) ASEAN
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34. Which one among the following 36. Anna Hazare was awarded the
statements about Mohamed Padma Bhushan in recognition for

Nasheed of Maldives is not correct? ) ) )
(@) his war against corruption

and launching Bhrashtachar
(a) He was the first President of Virodhi Jan Andolan
Maldives to be elected through

. . (b) his service to the Indian Army
multiparty elections

(c) transforming a barren-dry
village called Ralegan-Siddhi
in Maharashtra’s Ahmednagar
district into a model village
of self-sufficiency, ecofriendly
and harmony

(b) He became the President of
Maldives in the year 2008

(c) He was a strong advocate of

the policies of long-time (d) his remarkable social service in
President Maumoon Abdul the Adivasi areas of Bihar
Gayoom

37. Which one among the following

(d) He has been advocating and Indian events will be upgraded
promoting democracy and as an international event from
human rights in Maldives February 2013?

(a) Toshali Craft Mela

(b) Surajkund Craft Mela
35. Shunglu Committee was appointed

by the Prime Minister to (¢) Sindhu Darshan Festival

d hkar Fai
fa) draft the Jan Lokpal Bill (d) Pushkar Fair

38. The polity of the Harappan people, as
derived from the material evidence,
was

(b) look into the corruption
charges in the conduct of
Commonwealth Games

(a) secular-federalist

(c) look into telecom scam . )
(b) theocratic-federalist

(d) inquire into phone-tapping (c) oligarchic
amid a corporate lobbyist
scandal (d) theocratic-unitary
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39. Jaubaniis a dance form traditionally
performed in North-Eastern India
by the

(a) Dimasas

(b) Mizos
(¢) Khasis
(d) Bodos

40. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
{Festival) (State)
A. Ugadi 1. West Bengal

B. Nababarsha 2. Gujarat

C. Bhadra 3. Maharashtra
Purnima

D. Gudi Padwa 4, Andhra Pradesh

Code :
(a) A B C D
4 1 2 3

() A B C D
4 2 3

) A B C D
2 4

3 1
d A B C D
3 1 2 4
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41. Who among the following cultures
were the first to paint their pottery?

(a)

(b)

(c)

(d)

Mesolithic

Chalcolithic

Neolithic

Iron-age

42. Consider the following statements
about Shivaji’s military acumen :

1.

He was a master in guerrilla
tactics and swift cavalry
warfare.

He had built a series of fortified
strongholds on the table
mountains of the Western
Deccan.

Which of the statements given
above is/are correct?

(a)

(b)

(d)

1 only

2 only

Both 1 and 2

Neither 1 nor 2



39. IW-YET WA # IRAIRE &9 4 waefikia feran 41. fefofaa # @ e o w=pfa 3 oW

A A St g e g T s el @l wdvew fafa fen?
I o8 &9 g7
(@) TEmm sA (@) HEAIETA
(b) o=t sH
(b) TTHHTSTOT
(c) et A
{c} FSYTEI
(d) <8
(d) TE-IT
40. gfi-1 = G-I % Wiy gafaa Ffe ok
gt & = Ry T g w5 W
Wﬁﬁm
42, Tl A 8= fyeam & 9 § FeafaRaa
-1 Teft-11 Tt W R AR
( : (=) 1. 3 g wrfa 3t gdffa geean
A. 3Ime 1. °f3m s 735 # weltor )
B. e 2. TR 2. g4 ufirft g ¥ Wl wEa ®
C. gl 3. wETE Topetrag gt 1 g@en ffifa i oft)
D. Tt urgan 4. Y weW
I9th el B @ H-T/A Tl 3R
%
@@ A B C D
4 1 2 3 (a) et 1
) A B C D
4 2 1 3 (b) e 2
) A B C D
3 2 1 4 (c) 132 3H
() A B C D |
3 1 2 4 [d) IM1MAA 2
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43. lodized salt is a 46. A device which is used in our TV set,
Computer, Radio set for storing the
(a) mixture of potassium iodide electric charge is
and common salt
(a} resistor
(b) mixture of molecular iodine
and common salt
(b) inductor
(c/) compound formed by combi-
nation of potassium iodide and (c) capacitor
common salt
(d) conductor
(d) compound formed by molec-
ular iodine and common salt

47. A bus travels at a speed of 50 km per

44, Antacids are commonly used to hour to go from its origin to'its
get rid of acidity in the stomach. destination at a distance of 300 km
A commonly used antacid is and travels at a speed of 60 km per
hour to return to the origin. What
(@) sodium hydrogen phthalate is the average speed of the bus?
(b) magnesium hydroxide (a) 54:55 km per hour

(c) calcium hydroxide (b) 55 km per hour

(d) manganese acetate
(c) 5555 km per hour

45, Recently Apple Computers of (d
USA has launched a touchpad
which allows a user to operate
desktop computer with finger

54 km per hour

gestures, eliminating the need for a 48. Which one am‘ong the following is
mouse. What is the name of the called terrestrial planet?
device?

fa) Mercury

(a) Mirror-image pad
b) Jupiter
(b) Virtual pad (v) P

(c) Fingertip track pad (c) Saturn

(d) Magic track pad (d} Uranus
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43. EEiFa THF T 27

(@) TIEREM rERe R IR 9HE
1 Toysror

(b) T FTRAEH TR LT THE
oo

(c) TeRPM AEEE i YR T9F
& G § S N

(d) Tfoas ITENEH 3R EumRo meE 9
1 R

44, TIFAT W AHAR W OTEAEE Y2 @)

nefgar § gewr W F forw @ R
TR T JYH T -] 87

(a) WfeTT TR defe
(b) FefEm FrgieTss
(c) HfcHam FRglES
(d) WS e

45. e € # USA &I W wroed 3w W@

Toie A yEIE A B e W
et FR H ITeht A 9 |
FEN FHRAl ¢, IR W @ ARE A
sl T8 @dll I e A AW
27

(@) edur-ufafers B

(b) T T
(c) JER-SR Uy I
(d) g TS
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46. I7 IRF FE-H & S AR TV ¥, HFI,

Wl 2 § fg, omaw % wuEw & forg
TYh Bl 87

(@) TfaAwE
(b) =
(c) \atE

(d) =Tk

47, ®% 9 3 qE-TUH § 300 fho o g

g T 50 RRo o wid =mwe i nfd |
STt @ 3 60 o Hio yfa =wwe 1 nfy
q qA-TE K oqE oed g1 5| H
i e =@ 37

(a) 5455 feo o wfd =wer

(b) 55 foo o ufq Tver

(c) 5555 fho o Hfa Tvar

(d) 54 fo Hro ufa T

48, Frfafad § 4 fra wh =t wrelty 18 Fed

37
(a) g4

(b) T®

(c) WM

(d) LT
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49. Which

among the following
phenomena can occur when very
warm and humid air is rising over
a mass of a very cold air?

1. Calm weather
2. Snowfall
3. Storms and cyclonic storms

4. Intense rain and hail

Select the correct answer using the
code given below :

Code :

(a) 1 and 2
(b) 2 and 3
(c) 3 and 4
(d) 1 and 4

50. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List-I List-II
(Biosphere Reserve) (State)
A. Nilgiri 1. Odisha
B. Manas 2. Madhya Pradesh
C. Panchmarhi 3. Tamil Nadu
D. Simlipal 4. Assam

Code :

(@) A B C D

3 2 4 1

(bj A B C D

1 4 2 3
(c) A B C D
3 4 2 1
(d A B C D
1 2 4 3
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51. The waves that help scientists to

understand the internal structure
of the Earth are

{a) primary waves

(b) secondary waves

fc} surface waves

(d) longitudinal waves

52. Gaddis are

{a) fishermen of Kerala

(b) pastoralists of Arunachal
Pradesh
(c) shepherds of Himachal

Pradesh

(d) nomads of Rajasthan desert

53. Which one among the following is

not included in the Fundamental
Rights embodied in the Constitution
of India?

(a) Right to Equality

(b} Right to Freedom

(c) Right against Exploitation

(d) Right to Information



49, w9 Afq Mfaa I1g h wald & FW afq 7

3R g 91 I3 B, @ Frafafea & @
- T ufed 8 genet 27

51. 3 a0, S IR B YW A AT

TTEAT # JHeM o Heg il €, FH-H
87

1. g9 ArEH
2. fewaa (a) wufas qal
3. %M 3R Fward qEH
9 fou U g w1 WM W EE IW
EGLE () s wt
w: one
(@) 132 (d) Frgeed atd
(b) 23 3
€ 334 52. T #H §?
(d) 134
(a) FA F AFIR
50. -1 & G-I & &g FAfaa HNY i)
gt & = Ry T F2 w1 W@ = ad
S—— (b) TEOTEA YW % TN
HEt-1 -1 (c) Temmea W & Avar
(Srawuser feord) (=)

A. Hrafif 1. 3 (d) TS Tedfll % QHTEEE
B. HH 2. HEAYLW
C. Ja°gl 3. dfterrg
D. fygeiars 4 am 53. fr=fefiga # @ =9-W w, TG & gfaum
= 7 wftafera qor it & ke &t 87
(@) A B €D (@) THAT 1 ATHR

3 2 4 1
) A B C D ,

1 4 2 3 (b) TR AHR
) A B C D

3 4 2 1 (c) T % foeg iR
d A B C D

1 2 4 3 (d) TS H AR
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54. Consider the following statements
relating to the procedure of the
election of the Speaker and the
Deputy Speaker of the Lok Sabha :

1. The election of a Speaker shall
be held on such date as the
Prime Minister may fix and the
Secretary General shall send to
every member notice of this
date.

2. The election of a Deputy
Speaker shall be held on such
date as the Speaker may fix
and the Secretary General
shall send to every member
notice of this date.

3. At any time before noon on the
day preceding the date so
fixed, any member may give
notice in writing of a motion
that another member be

chosen as the Deputy Speaker
of the House.

Which of the statements given
above is/are correct?

(a) 2 and 3 only

(b) 2 only

(c) 1 and 3 only

(d) 1,2 and 3
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55. The writ of ‘Prohibition’ is issued by
a superior court

(a) to prevent an inferior court or
tribunal from exceeding its
jurisdiction or acting contrary
to the rules of natural justice

(b) to an inferior court or body
exercising judicial or quasi-
judicial functions to transfer
the record of proceedings in a
case for its review

{c) where it can call upon a person
to show under what authority
he/she is holding the office

(d) to an authority to produce an
illegally detained person before
the court for trial

56. Which one among the following is
not a Fundamental Duty of the
citizen of India?

(a) To develop scientific temper,
humanism and the spirit of
inquiry and reform

(b) To safeguard public property
and to abjure violence

() To wuphold and protect the
sovereignty, unity and integrity
of India

(d) To practice family planning
and to control population



54. W% WY F HUy €@ IqeAN & tEted
£ wirm ¥ vy § Fefafad w0 w
ﬁﬁ!’l’(@fﬁm:

1. oremm & Tatem wet fefa =
T ggrES fad iR mEmE
T% deE &1 3@ fafd #® gE
Seuill

0. Iqremsy & fatew v fafy = @
N sty g W M AgEES
To% e hl W faf Hogee
ST |

3. =g yR fad fof & 9d fem dow
Y vgel foreht T, =% ot wew
a1 feftaa gu @ v @
TR GeW F A b INAG | 7
¥ g1 SR |

e ol § @ we-a/d T 2/

() Fad 2 33

(b) HaA 2

(c) FaA 13T 3

(d 1,233
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55. ‘wfiny’ fe afm = g7 SR
SIGIE

(o) Pl S =mEeE @ e =
o ol @ orfus ®
ofts =ma & famt % g =
w0 Y Thd & forg

(b) TRl SR AT A NS Y
nfie-wed Fel w1 e s
a frem ®, wafag f a8 @
I § el & Afie w36
i & frg aata = Q

(c) & T8 fedl =fE @ a7 ama &
e 2 B o® Rem & few
yiftrrR & 3EfF 98 48 URuT L &I

?

(@) Rl wited w1, gl & a'
a9y w9 ¥ freg e R safeh
# feww ¥ o e 3 95
Lo

56. Treifefaa & & HH-81 TF, ARG & AT
&1 el Fasd e o

(@) AR FHEwT, ARAAETE a9l S
g gur 1 WA fhfea Fe

(b) <F g £ e an T g
HT

(c) WA Y WA, Tha T IT@USdl
FAR TEAT 91 JGh! T BT

(d) TRER FESE S T SHEE
icpEufeacl
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57. Which one among the following writs 59.

literally means ‘you may have the
body™?

(a) Certiorari

(b) Habeas corpus

() Mandamus

(d) Quo warranto

58. Consider the following statements
about Viswanathan Anand :

1. He has won the World Chess
Championship five times.

2. He is the first sportsperson to
receive the Padma Vibhushan
award.

3. Heis currently the No. 1 rating
player on the FIDE Ratings.

Which of the statements given
above is/are correct?

(@ 1,2 and 3

(b) 1 and 2 only

(c) 2 only

(d) 1 and 3 only
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60.

Consider the following statements :

1.

Mahesh Bhupathi and Sania
Mirza won the French Open
Mixed Doubles Title in the
year 2012.

This is their first Grand Slam
Title together.

Which of the statements given
above is/are correct?

(@)

(b)

(c)

(d)

1 only

2 only

Both 1 and 2

Neither 1 nor 2

During the recent Venus transit
{(June 2012}, the planet appeared
as a tiny black circle moving on the
Sun. The black colour on the Sun is
because the planet

(a)

(b)

(c)

(d)

is black in colour

obstructed all light from the
Sun

was invisible due to bright rays
from the Sun

behaved as a black hole during
its transit



s7. Tr=faiad f@l § @ few & @ e ad
‘SRR 3T9eh 9T ST S 27

(@) I

(b) @ T

(c) TTERT

(d) IFER-J=B1

58. fagud o< & =R § F=fafaa st
T fa=m $ifs .

1. 39 oy e AFeiim o' W)
S 2

2. 9% ‘vafnEu’ R W A
qeeT Raargl §

3. FIDE & § a8 9dq@ ® TR 1
e Regenet B

IR FoAt § | wA-w/a el 387

(@ 1,233

(b) FaE 1 AR 2

(c) HIA 2

(d) Fa 1 3 3
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59. F=fafga Fudt w faar fifvg .

1. 9§ 2012 4 wew yufa qun @
firstt 3 e e fyre gaew argew
Eicif

2. WY ¥ I I W AT TgN I W
TgeE B

I Fel H A BH-1/H T F/E7

(a) FaH 1

(b) &S 2

(c) 13 23A

(d) AW 13MMI2

60. BTE % Y F WU (S 2012) & H,

T 78§ W Sed §C @Y. F g9
WE Wdta g7 | §F W I8 FIeN T Ty
RECEES

(@) 38 T& I TT e &

(b) T UE 3 @ @ aft Txh = afea
IE2]

) =& 7% gd A A9 fon i a5w @
SRR

(d) d& U WA F N F e
TG AT HIA AT
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61. Which one among the following was

the theme of World Environment
Day, 20127

(a) Your Planet Needs You—

Unite to Combat

(b) Many Species. One Planet. One
Future

{¢) Forests—Nature at Your
Service

(d) Green Economy : Does it
Include You?

62. Consider the following statements

about Rahul Bhattacharya, who
won the prestigious Royal Society of
Literature Ondaatje Prize, 2012 :

1. - He was awarded the Ondaatje
Prize for his book, The Sly
Company of People Who Care.

2. He is a cricket journalist.

Which of the statements given
above is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

63. Which one among the following

popular cartoon characters has
recently completed 50 years of
creation?

(a) Chota Bheem
(b) Mowgli
(c) ‘Utterly Butterly’ Amul Girl

(d) The Common Man
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64. Industrial Revolution, in its early

phase from C. 1760 to C, 1850, was
largely dependent for its success on

fa) machine power that replaced
the labour on a large scale

(b) elaborate road network for
transportation of industrial
products

fcj network of electric

stations

power

(d) organization of labour under
factory system

65. Consider the following statements

about the European travelers to

India :

1. Sir Thomas Roe, the
representative of the East India
Company, was granted the
permission by Jahangir to
open a factory at Surat.

2. Captain Hawkins was driven
out from Agra by the Mughals

at the instigation of the
Portuguese.

3. Father Monserrate traveled
with Akbar on his journey to
Kashmir.

Which of the statements given
above is/are correct?

(a) 2 and 3
(b) 2 only

(¢ 1 and 2
({d) 1 and 3



61. F=fciflgd 4 & S9-a1 s, fag w=iew

fea|, 2012 &1 fawg an?

() 3TUF TR I ATH FT&@ a—aod
& foe o & =g

(b) 3% Sl | T TR | TH W=
(c) FTA—JHid AT Tar #

(d) Bh@ wdgawar . w AE AR
it et &7

62. g wzEd, Fmw wfafd Taw wwmd

A fore=r Ondaatje &R, 2012

i, & fowg # Fefafaa s w =R

I

1. =W Ondaatje JU&RR ELCED J&,
T TS w1 fioe g A F
feru femm )

2. 9% U fehe R 1

Swd FeHl § | BE-T0/R w6 2/

(@) Fa 1

(b) e 2

(c 1323

(d AW 1IN 2

63. Frfefian sgafa =&a =fel & & fow

T 3 EE @ H A W% 50 W R
feu?

(a) Brer iy
(b) TR
(c) ‘et Fetelt’ Imw T

(d) T HH AR
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64. Nk wfx, o g = A

C. 1760 ¥ C. 1850 d%F, AT %Al
% fore gera: form w fofe ofi?

(a) I wf f5E7 Feq T W 5\ H
wlaeanfua fora

(b) @i Il % ditged & fou
foreqa v YT

(c) Torpa mifw sl @1 deaeh

(d) HREH! T & TGd Hq HT T34

65. Wd AW A i e F oan #

frerferRaa semt w fmm il

1. W o9mE T, = A FFA &
vhatfy, & sk g @ H
FREMT GieW 6 gAfd § T

2. ydmfeEl & IRAM ¥ e fHd

! Al A AW W A e
il

3. FHYR A G I W HE AL
J 3The & G ITAT hi |

37w § |} FH-E/H R 287
(@) 23M 3
(b) Fa 2
(c) 13Mm2
(d) 133
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66. Dalhousie has been regarded as the
maker of modern India because he
brought about reforms and made a
beginning in many fields. Which
one among the following was not
one of his schemes of reforms?

(a) Educational reforms

(b) Construction of railways and
introduction of telegraph and
postal services

(c) Establishment of a public
works department

(d) Factories Act to improve the
condition of Indian labour

67. The suppression of Indian language
newspapers under the Vernacular
Press Act of 1878 was caused by
the criticism of

(a) lavish lifestyle of the English
officials

(b) ill-treatment given to indigo
workers by their English
masters

{¢) inhuman approach of English
officials towards the victims of
the famine of 1876-77

(d) misuse of religious places of
India by English officials
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68. A ‘rectifier’ is an electronic device
used to convert

(a)
(b)
(c)

(d)

AC voltage into DC voltage
DC voltage into AC voltage

sinusoidal pulse into square
pulse

None of the above

69. In step-down transformer, the AC
output gives the

(a)

(b)

(c)

(d)

current more than the input
current

current less than the input
current

current equal to the input
current

voltage more than the input
voltage

70. When ice melts, its

(@)

(b)

()

(d)

volume decreases

volume increases

volume and mass both
decrease

volume decreases while mass
increases



66. TEarst ®l yfE wwa @ Fwfar =

VAT 8, Fifh 9% GUR AR adl hE &l
# yrata #1| Frefafea & @ s9-w
36 GuR A § § v T@ ofi?

(a) i gur

(b) Tmrit w1 fmin qen aR @ e
CEICEA R I

(c) < Frfor fasm i T

(d) v afient 1 fRIfo @l gur &
o R SAfyfem

67. 1878 % THIHeR Y6 TR & d&d WRAHA

g % GAHER-TE 6T GFA fRERhl
ST Y Fefg @ g3 A1

(@) @St AfyEEtE A IS
Sftaa -Feft

(b) SH wiferel g1 e & FHHT F
Y o Fdgi

(c) 1876-77 % 3t ifedt F wfa
sl wfiemfEl w1  smEEE
i

(d) ST AftERiEt g wRa & it
T T FETI
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68. ‘Rrwdt wF oaeiIF YRE B ToE W@

o vhafda w0 % fa S 87
(@) AC deedl & DC dieedl §
(b) DC die2al &l AC el §
(c) SHEHY T & T W< A

(d) I T T w8 T

69. U=t gfonfim # AC Frfa = wem w=an

27
(@) TEw @ stfees am@
(b) TEw e @ W "W

(c) TEm am % JUs ¥

(d) Trom dieear & AAftes dieed

70. v« 5% e g, @

(o) U FH Tl &
(b) TEHT EA FEAT 2
(c) 3O HFEH qUT A A1 el 2

(d) TEHI IEAT T B TER FoIHH
e &
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71. The riverbank is weakest where the
river turns. This is because water

(a) gets concentrated on the inner
bank of the turn, making it
denser

(b) effectively bounces off the

outer bank as it turns, exerting

an extra pressure on the bank

(c) flows faster as it turns

(d)

reacts more effectively with the
bank at a turn

72. Why do we have a leap year every
four years?

(a) The Earth gets shifted out of

orbit every four years

The revolution slows down a
little once every four years

(b)

(c) The length of a year is not an
integer number of days

It is a convention

(d)

73. Rain-bearing clouds look black

because
(a) all light is scattered by them

(b) the large number of water
droplets in them absorb all the
sunlight

(c) they reflect the sunlight back
into the atmosphere

there is a lot of dust condensed
on the water vapour in such
clouds

(d)
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74. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I
(Tribal Group)

List-II
(State where
predominantly located)

A. Reang 1. Arunachal Pradesh
B. Dimasa 2. Nagaland
C. Konyak 3. Tripura
D. Mishmi 4. Assam
Code :
(a) A B C D
1 2 4 3
(b) A B C D
1 4 2 3
(c A B C D
3 2 4 1

d A B C D
4 2

75. Which one among the following
sequences of water bodies, from
lower to higher salinity concen-
tration, is correct?

Gulf of California-Baltic Sea-
Red Sea-Arctic Sea

(a)

Baltic Sea-Arctic Sea-Gulf of
California-Red Sea

(b)
{c) Red Sea-Gulf of California—
Arctic Sea-Baltic Sea

Arctic Sea-Gulf of California—
Baltic Sea-Red Sea

(d)



71. & 7@ gedt 2, 7@ q¢ gad FASR B
8| v gafg B, wifs o

(@ W % sfad e w grg B 3@
O SR 4T 8

(b) A & fFm w Al 3@ @ 3o
gear 2, Sl fHR @ 9wt 9 Q
ISl 8

(c) ¥ & gear g, I A 7@ 7 B
(@) We | fFm & @y il v
w9 § wlafsran s 8
72. Y% IR 98] | fuEd 41 g 27

(a) Y% IR a6 W el Fam ¥ ;M
A IGIR

(b) ¥&F TN T W TH I IRHH0 §9
ER R

(c) = & T i S quies den T@
2

(d) 9% TH G B

73. INi-dEH SEd HA fowd §, wMifs
(@) I g0 gt Derft webof € e &

(b) I I e # 9 forgh € U
9 o €

() F 4 H gE awERw § yRfEE
Fa 8

(d) U@ EE § -9 W SAAR
Yol Gt Bt 8
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74, T = G-I F @9 gakaa e R

ghat & = e e g w1 s woEE
m%ﬁq:
Hef-1 Hefi-11
(TR |YE) (3 T wET o
THTEa: Eferd §)
A. G 1. ITEUTERT 9o¥
B. fow 2. AFTRIVS
C. 3. Bgu
D. Ty 4, 3EH
He
(a) A B C D
1 2 4 3
) A B C D
1 4 2 3
) A B C D
3 2 4 1
) A~ B C D
3 4 2 1

75. TR @ TR FIE gFsal & FA A,
s@ fremt & Frafaflga @ @ #9-1
A HA 37
(@ e  H  wEl—afee®

HIR—AT §—IYETd FH

(b) wfced HM—IMYIT  HPR—
Fawfda H GE—aa 9rR

(c) T TFR—RfaeiHa fit wEi—
Iy FTR—afee® qFR

(d) ITgEE  AER—FwitE A\
GrE—afeds ri—ATa R

[P.T.O.



76. The main aim of watershed
management strategy of India is

(a) promoting silviculture

(b) hillslope management

(c) arid land management

(d) soil conservation

77. In absorption of insolation, the most
significant part is played by

[a) carbon dioxide

(b) ozone
(c) oxygen
(d) haze

78. Which among the following cities of
India will have mid-day Sun exactly
overhead only once a year?

(a) Delhi and Chennai
(b) Srinagar and Darjeeling
(¢ Hyderabad and Kohima

(d) Nagpur and Kolkata

P-DETB-M-HL/66A

79. The Speaker of the Lok Sabha may
be removed from office by

(a) the majority party in the House
adopting a  no-confidence
motion

(b} a resolution passed by not
less than half of the total
membership of the House

(c) a resolution passed by at
least two-thirds of the total
membership of the House

(d) a resolution passed by a
majority of all the members of
the House

80. What is/are the major difference/
differences between a written and
an unwritten constitution?

1. A written constitution is the
formal source of all
constitutional laws in the
country and the unwritten
constitution is not the formal
source.

2. A written constitution is
entirely codified whereas an
unwritten constitution is not.

Select the correct answer using the
code given below :

Code :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2



76. WRG hl TS Feoruq WHila &1 g 79. A% |W & AAF H & ¥ fREE g

I |1 27 TR S Gl 27
(@) FA-TEF Hl TGAT (@) ¥ ¥ FgHA A T R, HfaEmE
T ) 3TIATE
(b) UEE T YA
(b} T I B G F FA-U-HH
() o 9 T Y He= g TG dhed g
. (c) & H FA WA & HA-Y-HF
(@) T e 21-foers deet g uIia dehed g1
77. TEtas % SR § e v e (@) gﬂ‘ﬁm*wmm
| e grr P S 37 &
(@) HT STESATISS 80, e s s dReE % 9 S
= B/8?
(b) ST 1. fafew afem 3w & o @it
5 fafiel & ofwEie d@m R el
(c) IFfadieE sfafea dfeum Nu=rfer wa d
2l
(@ 9 S I Su— S NN
2, st srfeifaa gfaum 22 g
78. WA ¥ FrfeRad § @ #9-8 wed & o = Ru o W owEm woEd W
7 fab & ) AR w1 gl e s g :
FR g &7
%e ¢ |
(@) ﬁ@@%ﬁ (a) Wl
(b) AT @ TiSifem (b) ¥ 2
(c) weaE Td e (c) 1323
(d) TG T HicThral (@ IdA13mIA2
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81. In the Rajya Sabha, the States have
been given seats

(a) in accordance with their

population
(b) equally

(c) on the basis of population and
economic position

(d) on the basis of
economic status

present

82, The Preamble is useful in consti-
tutional interpretation because it

(a) uses value-loaded words

(b) contains the real objective and
philosophy of the Constitution
makers

(c) is a source of power and
limitation

(d) gives an exhaustive list of basic
features of the Constitution

83. Which one among the following is
not an attribute of sustainability
of Indian democratic model?

(a) Unity in diversity in socio-
cultural patterns

(b} Sustained economic growth
specially after the 1990s

(c) Regular elections in the Centre
and States since 1950s

(d) A strong industrial base with a
vibrant federal structure

P-DETB-M-HL/66A
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84. Which one among the following
was the immediate cause of attack
by Nawab Siraj-ud-daullah on
Calcutta in 1756?

(a) Refusal of the English
Company to pay the overdue
trade tax

(b) The English conspired against
the Nawab with a view to
depose him from the Throne

(c) Siraj-ud-daullah wanted to
drive out the English from

Bengal
(d) Refusal of the English to
demolish the fortification of

Calcutta

85. Which among the following materials
were used for minting coins during
the rule of the Mauryas?

(a) Gold and Silver
(b) Silver and Copper
(c) Copper and Bronze

(d) Gold and Copper

86. What was the Kutagarashala—
literally, a hut with a pointed roof?

(a) A place where animals were

kept
(b) A place where intellectual
debates among Buddhist

mendicants took place

{c) A place where weapons were
stored

(d} A place to sleep



81. TS 991 § U=l o1 TIW ol e few 1w

7
(a) I FHEEAT & SFTHR
(b) TAF ¥4 A

(c) e R anfdew feafq & smem
T

(d) Fda e feufa % sy o

82. wifawrfe =men # kfiwr swErf g,

G2l
(a) IT GoI-ING VRl T TE el B

(b) Tz Glaue FmiaeT & arfas as
3T e 1 wityfora =t R

(c) ¥g Wiw 3 uftefiet = & 2

(d) & "REm A snurem fosiwenet
1 wrul et Yo et B

83. fafifan & 4 =9-w w, wrRdN™

R Hige shi grofEFdr @i e

T &7

(a) @A -HiEpfas wfeedt § fafsea
R

(b) wiia o7 fapma, faowsR 1990
% I o TG

(c) =% T TS A 1950 F e A
e gm=

(d) T SEd T §EAT % 9y
wiitheTeft 2Menfies 3mur

P-DETB-M-HL/66A

35

84. 1756 W Holhdl W o+ RUH-3g-3en

mmw%qwﬁaﬂaﬁr%aﬁm
frafafga & @ s-a1 T 917

(@) ISt wO g fddy saR-w
IS FH W TP

(b) IS 7 W & foeg W W @
T I 5fE ¥ wgEa fen

c) TOS-3[-Ia1 WS 1 S F
ITE G |TEd ol

(d) el H fhoia<l ® e w= e A
ST 1 RN

85. Ol & wEAe o g @M % fau

frafafae 4 @ o el =1 swEm g
1K

(a) WUTQHHTE‘T
(b) =idl &
{c) AW Ud gl

(d) @i g T

86. Feranen, fww mikew s el wa

el St 8, = et ofi?
(a) YYHA F T TH H =M

(b) TH WE SE Ag figet & g
Hifge are-fomme @ar o

(c) Y H THE WA H WM

(d) T HA B H
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87. The ‘Dhamma’, propagated by 91. Farmers are requested to mix lime
Ashoka, was with soil while farming their fields.

(a) the tenets of Buddhism This is because

(b) a mixture of the philosophies (a) lime is very helpful in
of Ajivikas and Charvakas maintaining the water content
in the soil

{¢) a system of morals consistent
with the tenets of most of the (b)

) lime decreases the acidity of
sects of the time

soil
(d) the religious policy of the State
(c) lime decreases the basicity of

soil
88. Which one among the following pairs
is not properly matched? (d) high concentration of lime is
(a) Megasthenes : Indica necessary for the plant growth

(b) Ashvaghosa : Buddhacharita
92, Match List-1 with List-II and select

(¢) Panini : Mahabhashya the correct answer using the code
(d) Vishakhadatta : Mudra- given below the Lists :
ksh
ragshasa List-T List-I
(River) (Tributaries)

89. In an atomic explosion, release of
large amount of energy is due to A.  Ganga 1. Chambal and Ken
conversion of

Indus 2. Wainganga and
(a) chemical energy into nuclear Indravati
energy C. Yamuna 3. Chenab and Sutlej

(b) nuclear energy into heat Godavari 4., Gomti and Kosi

(c) mass into energy

. . Code :
(d) chemical energy into heat
(a) A B C D
90. Soaps cannot be used in acidic 4 1 3 2
condition because they lose their
cleansing effect due to formation of (b) A B C D
insoluble 4 3 1 2
(a) esters © A B o D
(b) alcohols 2 1 3 4

(c) hydrocarbons (d) A B C D
3

(d) long-chain fatty acids 2
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87. 3TN N YT W =T o7

(a) shEHa % fagma
(b) STifaRt SR Sratwl % Al W
oo

(c) 3T GHE & AYEw TWEED &
fygrat @ wma e SFa

(d) Ts" & aiffia Hifa

88. f=fufad # @ #F-w1 & gw wyfm =

T gafora &t 27
(@) WIS . Yewr

(b) ¥ . gEEia

89. T fawFre #, g A1 H el H HiEH

foree = & Fvr A 87
(a) TETEME FH( 1 AHGET STl §
(b) AMEF FAT HT FoT |
(c) FHHA H Hel A ‘
(d) TEEHE FH1 & S |

90, | & IWM A g 7 A foran s

Tohdl, Hifh o Tk Afdod s o HI
AET WS YT @ I} | a8
rfocta A-|1 &7

(a) T

(b) IHEA

(c) TEZHTE

(d) -G qE T
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91. fHraml |, @l # H =@ oy it & @

foem = =1 St 21 = feafan 27

(@) I, T # S« W 9 w@H #
ERGRCHREN

(b) <, gt Y sncfiar =t weran ®
(c) <, frdt Y eardiwan Y weran @

(d) T HA I=A HiEA I_Y gy & T
T B

92, HH-I = FH-II & WMy Gafea A R

ghat % 2 fdg U Fe 1 v W w=H
Wﬁﬁ"{:

-1 -1

(7<) (TETasw )
A. T 1. <Fe 3R o
B. fiy 2. I SR gEEd
C. TG 3. o 3R weers
D. e 4. A AR AER
He
(@) A C D

4 1 3 2

) A B C D
3

) A B C D

3 4

(d) A

w o
@]
o

[P.T.O.



93. Tank irrigation is practised mainly in
Peninsular India because

1. undulating relief and hard
' rocks make it difficult to dig
canals and wells.

rivers are rain-fed

3. of compact nature of population
and agricultural fields

Select the correct answer using the
code given below :

Code :

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2 and 3

94, Consider the following statements :

1. Rural forestry aims to raise the
trees on community land and
on privately owned land.

2. Farm forestry encourages
individual farmers to plant
trees on their own farmland to
meet the domestic need of the
family.

Which of the statements given
above is/are correct?

{a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2
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95. Which of the following are
responsible for the decrease of per
capita holding of cultivated land in

India?

1. Low per capita income

2. Rapid rate of increase of
population

3. Practice of dividing land
equally among the heirs

4. Use of traditional techniques of

ploughing

Select the correct answer using the
code given below :

Code :

(@ 1 and 2

(b)

(c)

2 and 3 only

1 and 4

(dj 2,3 and 4

96. Surface water resources are highest

in

(a)

(b)

(c)

(@)

Ganga plains

North-Eastern India

Peninsular India

Indus plains



93. @ ¥ feE goma: yedde wwm §

Tafed 8, Fifh

1. EER Y-3Fid 3T wek o, T8l
3 paTt il G F g a3
AR 3R FN &% Q7 991 TF:h F
g

o i T F= # wET W oEd W
EIREE

%e
(@) FFA 1 2

(b) Had 2 3N 3
fc) Faa 133

(d) 1,233

94, fr=fafed woat w fm Aifv

1. o el 1 3R |/ngeie aqfy
A ot w@ifiee Ht gft w A
T B

2. ®M aTiERl Safew fraEl w e
ge H wE-H R, MU IiER A
W EwEEd f g % R,
YU ¥ NedTiRd Bt 2|

I FoEl A HA-w/A wd g/E?
(a) a1

(b) Fa@ 2

(c) 13 23

(d F@ 1T 2
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95. wrd § F= 1 ¥ ufa =ufte v ¥ R

frafafas & @ - saw@rh &7
1. fom= wfa ==t amm
2. SEET-gig A fig w

3. soufteal # wom w9 & oft W
FEAT F H T

4, T wA A s aFE w
HSbic)

fe fiw T g2 W owWm W wd@ W
T :

*e
(@ 13MW2

(b) a1 2 3R 3
fc) 134

[d 2, 334

96. TAY S HETHA F@l I=Aat 27

(a) TN % HEH

(b} -G e

(c) TEFHE vRa

(d) Tay = dem

[P.T.O.



97. Which one among the following cities
is called the ‘zero-mile centre’ of
India?

(a) Kanpur

(b) Allahabad

(¢} Nagpur

(d) New Delhi

98. Which of the following statements
is/are correct?

1. High growth will lead to
inflation.

2. High growth will lead to
deflation.

Select the correct answer using the
code given below

Code :

(a) 1 only

(b) 2 only

{c) Both 1 and 2

{d) Neither 1 nor 2

P-DETB-M-HL/66A

99. The Right to Information means and

includes

1. inspection of documents

2. taking out files from office to
any place desired by the
applicant

3. taking photograph of files

4. obtaining information in tapes

Select the correct answer using the
code given below :

Code :

(@)

(b)

(c)

(d)

1,2, 3 and 4

1, 2 and 3 only

1, 3 and 4 only

2 and 4 only

100. Which one among the following
statements about ‘Revolution’ is
not correct?

(@)

(b)

(c)

(d)

40

Revolution implies change of
the system itself

Revolution implies change
within the system’s rules

Attempts at revolution often
produce violence

No type of political system is
immune to revolution



97. fmfafea # ¥ fFa % wwt # wra =1 99. =T il ARHR F1 1 ¥ 3R 3@ wnfaa

TA-HE F wEd 87 K
1. <&mEs o e
(@) FR 2. W%wﬁﬁ?{wﬁmsﬁ
Tt ST o ST STEl SAeed =R
3. WEA! F BIRITE o
(b) =ATRIER 4. G T H W HA
() TR = fiu M ogE wowEn W oS IR
ECLE
(@) TR T
(@) 1,2, 334
_ (b) Had 1, 2 3 3
98. f=fafaa § & =H-w1/8 %o wd) /%7
1. 3= w9l gEedfa N ek @ (c) a1, 373K 4
Bl
2. I gl gE srawhfd A R @ (d) Fad 2 3 4
STt |
100. ‘wifA & sn ¥ fF=ferfad 4 @ 9-w w
o Rt T oHw W o W oEd e e T 27
EGLE
. (@) #f ®1 ffead =F =aen =
%e o 3
(a) ¥ 1
(b) s &1 Fifgard sgeen & fgdt &
31 i ®
(b) FaA 2
(c) I & v § 37y femn far Bt
c) 13 2aH ¢
(d) Tt ft R A uefos sawen
@ Ta 1A 2 Fl—d o I T8 8
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101. Which of the following statements

about features of Sanskritization
is/are correct?

103. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

1. It refers to a process whereby

members of a caste attempt to List-I List-II
raise their own social status by (Act) (Feature)
adopting the rituals, domestic A The Indian | Introduction
and social practices of a caste Councils Act, of provincial
of higher status. 1892 autonomy
2. The practices which were
usually chosen for emulation B. The Indian 2. Introduction
were adopting vegetarianism, Councils Act, of the
wearing of sacred thread, 1909 prin(?iple of
specific  prayers, religious election
ceremonies and so on. C. The Government 3. Introduction
of India Act, 1919 of diarchy

Select the correct answer using the

code given below : In provinces

D. The Government 4, Introduction
Code : of India Act, 1935 of separate
electorate
(a) 1 only for the
Muslims
(b) 2 only
{c) Both 1 and 2 Code :
(d) Neither 1 nor 2
102, The ‘Instrument of Instructions’ @ A B c D
contained in the Government of 2 4 3 1
India  Act, 1935 has been
incorporated in the Constitution of
India in the year 1950 as (b) A B C D
fa) Fundamental Rights 1 3 4 2
(b) Directive Principles of State
Policy ¢ A~ B C D
(c) Extent of Executive Power of 2 3 4 1
State
(d) Conduct of Business of the (d A B C D
Government of India 1 4 3 2
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101, wehdie  Hi Feweet & s A 103. -1 A -1 & |y gakra Hifsg 3
frafafad § @ ®9-w/@ wom wd /37 gieat & = e e g w i a

1. 7% 3 Y @ RARE w3 I
e g foredt snfa & @eew, S
wfeafq & sifa & wHEvEl, we

iR g wets @ SR (;@fi E_I ) (Wﬁ ?_H)
ot ' h wmETSes wiedfa
ST 33 1 T Fd B
2. A gum S wEEE: giaegal & fag A, & sfemm sefee 1. widla @@= &t
it st off, 3 off wrEER A, TR, 1892 IR
IR g e, feww g,
e STTEM oA, A B. R ifem Frifew 2. FalH ¥ frgm
TF, 1909 IR G
R Ry M oE w oW WO W o
s C. ¥Rd TR 3. Tl # guemEd &t
|E : arfafEm, 1919 YR
(@) @5 1 |
D. ¥Rd N 4. gEEAH! * g
(b) HaA 2 srfufyem, 1935 gy fafem &
EAR LTI
() 1 3R 23H
(d) F@ 1 A& 2 %2
(a) A B C D
. 2 4 3 1
102, ¥Ra F@wR AfufEE, 1935 # st
‘ggew T H FW 1950 F WWE *
dfgum # frm w9 § afafys e mn 27 ) A~ B C D
1 3 4 2
(a) HE ARER
(c) A B C D
(b) Tsa & Hifa Fews o= A 3 . X
(c) TST F FHriurfere ¥fh 1 fowm
(@ A B C D
(d) ¥Td TEHR R HE-FATEH 1 4 3 2
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104. Silk routes are a good example of 106. Which one among the following

vibrant pre-modern trade and depicts the correct meaning of the
cultural links between distant parts term Jins-i-kamil concerning crops
of the world. Which one among the in Mughal India?

following is not true of silk routes?
(a} Paddy crop

(a) Historians have identified

several silk routes over land (b) Cash crop
and by sea {c) Coarse crop
(b) Silk routes have linked Asia (d) Crop grown in the arid zone
with Europe and Northern
Africa 107. Match List-I with List-Il and select

the correct answer using the code

(c) Silk routes existed before the given belaw the Lists :

Christian era and thrived
almost up to the fifteenth

List-I List-IT
century (Mineral) (Producing Centre
(d) As a result of silk route trade, in Map)
precious metals like gold and
silver, flowed from Asia to A. Copper
Europe
B. Mica
105. Which one among the following
correctly  describes Gandhiji’s
attitude towards the Swargjist C. Chromite
leaders?
{a) He wa'.s not oppf)sed to their D. Lignite
entry into Council
(p) He had full trust in their
bona fides and considered Code :
them most valued and @ A B C D
respected leaders ) 4 1 3
() He was not in favour of (b) A B C D
maintaining warm personal 9 1 4 3
relations with them
fc) A B C D
{d) He was neutral to 3 1 4 2
Government’s offensive against
the Swargjists and did not (d A B C D
defend them 3 4 1 2
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104. Wm wt f % g e ¥ 4 e

qd-MYfF SR @ RS Hiedl %
= e | Tfafae @ @ sWw-m
T, I AN & w17 A O e 87

(@) SfoEmEst ¥ e w s g @ A
ek 1T AT 6! TEEET ®

(b) Tow Wl 3 TR w g R I
bt @ et B

(c) WH AF 6 A @ gd erfered @ 9

106. fr=fafiga & & ®=F-¥1 &, g 9a A

T 4 EER W@ 9™ T
Frg-u-we & @@ 3 = Al
FAT -7

(@) & F HEA

(b) THE HEA

(c) TieE () wEA

(d) §@ &t 8 3T T e

107. -1 =1 gE-11 & a1y gafea i 3t

R I o Ugedl wdedl a Hiwat & A= i T e w5 wi w wd
qﬁ-"gﬁ Wgﬁq:
(d) tvm mnfla =R & R w@e #iR -1 =11
=i SE gegam gl o | g (@f=r) (vfer 9 seTER )
aF el
A dm

105. frafafgs 4 @ =R-w1 s, T B. 319%

st ® wf i @ wER w

Jier-dter afvla sar &7 -
(a) zmﬁmm%ﬁﬁﬁ%ﬁﬁ g
(b) & ITR el # gm whEn wEd 2 %z :
O " @@ A B C D
ERIRE D > 1 :
(¢ 3 3W Tids =fem wey ) A~ B C D
@ & vt § T8 9 2 1 4 3
0 A B C D
(d) 3 wreEeE & BRg R &% 3 1 4 2
IYESEH @ & wia ety & iR @A B C D
IR T TR L o 3 4 1 2
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108. Sargasso Sea is characterized by

(a) very cold water

(b) very warm water

(¢) highly saline water

(d) typical marine vegetation

109. Ozone holes are more pronounced at
the

(a) Equator

(b)

Tropic of Cancer
(c)

Tropic of Capricorn

Poles

(d)

110. In India, the ‘effective literacy rates’
are calculated from

(a) total population

(b) child population

{cj adult population

(d) population above 7 years of age
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111. In the ©parlance of financial

investment, the term ‘bear’ denotes

fa) an investor who feels that the
price of a particular security is
going to fall

(b) an investor who expects the
price of a particular share to
rise

(¢ a shareholder who has an
interest in a  company,
financially or otherwise

(d) any lender, whether by making

a loan or buying a bond

112. Which one among the following is

an appropriate description of

‘deflation’?

(a) It is a sudden fall in the value
of a currency against other
currencies

(b) It is a persistent recession in

the economy

(c) 1t is a persistent fall in the
general price level of goods and

services

It is a fall in the rate of inflation
over a period of time

(@)



108. TOTH! 4R & ferewan =1 27
(@) f sfiaw s
(b) 3fq 3w S|
(c) AR AGU A

(d) WU qEt aefa

109. 3T % wal W arfs geaw 87
(@) EERET
(b) TG
(c) TRl

(d) 93

110. ¥FA # ‘weret anawar @ fered wftforg Y

et 87

(@) FA TG

(b) Targ] SERE

(c) ITEH SHEE

(d) 7 a9 Hl g W FW Y TEE
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111. foxim faw & o= § ‘gefen ()’

=2 fora ifad st 27

() T Fow ST wegw Fowm § T feh
foew wfngfa (Reeitfdl) ) e
s g

() 7 FEvE I 5t @@ 9w A
F0d TG N T HAT 2

(c) T® TuwaE feh el woht |,
focfle w7 9 1 o=, T 2

(d) H3 YRS, 4 & IUK ] F 7
qi-g @ited A

112. Frfafaa # @ SF-w1 @, ‘sawhify’ =
wgfea aofq 37

(@) & Foret qE1 & qed 7 o gwieit %
S T8 REATd FTrae 2

(b) FE Srdsxaeen ¥ waq ot gf 6 B

(c) I8 Txgall 3R [edt & W
Hd wR § Faa feae 2

(d) a%’ﬁ?ﬁmaﬁ:ﬁamﬁﬁaﬁa{
7 fiee 3

[P.T.O.



114. Which

113. With reference to Lok Adalats, which

one among the following statements
is correct?

{a) Lok Adalats have the
jurisdiction to settle the
matters at pre-litigative stage
and not those matters pending
before any court

(b) Lok Adalats can deal with
matters which are civil and not
criminal in nature

(c) The Lok Adalat has not been
given any statutory status so
far

(d) No appeal lies in a civil court
against the order of the Lok
Adalat

among the following
provisions of the Constitution of
India is/are fulfilled by the National
Social  Assistance Programme
launched by the Government of
India?

1. Fundamental Rights
2. Fundamental Duties

3. Directive Principles of State
Policy
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Select the correct answer using the
code given below :

Code :

(@ 1, 2 and 3

(b) 1 and 3 only

fc) 3 only

(d) 1 and 2 only

115. Consider the following statements :

1. In India, only two Union
Territories have Legislative
Assemblies.

2. Mizoram, Nagaland and
Meghalaya, the three North-
Eastern States of India, have
only one seat each in the
Lok Sabha.

Which of the statements given
above is/are correct?

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2



113. A% e+ g=ed o, f=fifes § 9
HIA-91 Tk A Tl 27

(a)

(b)

(d)

F FETAAl & U I HHA! 6Bl
fwem &t siftefar 2, s geam
WA g e &
oWt w9 W et = &
Tme wAfeg 8

AF T I WA B A Hehel
2, W Rifde wwy & € o Tifes
wWEY & 76§

& ITeTEd &I 3 qH B FEH
thma T A R

TR ST & IRY & faeg Tt
fofoq =maem 4 =i erdier 78 At

114. W & wfoam & frefafea § @ B/
IqEH/ITEHT K WRG HER T YE
foru 7o gt wfies wEmar wRIEE g
o e T 27

1.

2.

3.

g RSItEan

T FA

sy & Hfifq ey =

P-DETB-M-HL/66A

d= fiu T Fe F WM W ¥ IW
E{ELE

Fe

(@ 1,23R3

(b} Faa 1 R 3

(c) &aa 3

(d) Fae 1 3 2

115. Fwfafaa semt @ famm Hifse
1. ¥Rd ¥ %ad 2 §9 TaaEl § faum
avTd F |

2, WA & dF - asA, e,
TMATE 3K BETeE, YA F Al
T # e TH-TF TH 2

I9Y HYAl ¥ § BH-|/8 wE 2/E7
(@) Fad 1
(b) ad 2
(c) 1 3R 2 3Ht
(d) F@13II&2
[P.T. O,



116. Consider the following diagram :

/Q(—\——- North Pole

/

~

\¢—— Horse Latitude

<A

\

)

N\

\v/é Polar high pressure belts

<— South Pole

In the diagram given above, what
does A denote?

(a)

(b)

(c)

(d)

Doldrums

Trade winds

Westerlies

Easterlies

117. There are three distinct characters

of temperature
atmosphere

stratification of
around the Earth.

Which one among the following is
the correct arrangement of the
layers (from the Earth’s surface
upwards)?

(@)

(b)

(c)

(@)

Thermosphere—Stratosphere—
Troposphere

Troposphere—Thermosphere—
Stratosphere

Troposphere—Stratosphere—
Thermosphere

Thermosphere—Troposphere—
Stratosphere

P-DETB-M-HL/66A

118, Which one among the following

statements

regarding  Chinook

winds is not correct?

(a)
(b)

(¢

(d)

These are local winds

They descend along the
eastern slopes of the Rocky
Mountain in mid-latitudes

They bring lots of rain with
them

They benefit agriculture

119. Which one among the following

statements is

not true of the

Jajmani system ?

(@)

(b)

(c)

(@)

It was a non-market exchange
system

It was practised in many
villages and regions during the
pre-colonial period

It was introduced under
pressure from the colonial
regime

[t was incorporated into wider
networks of exchange through
which agricultural products
and other goods circulated

120. Which one among the following
books was authored by a lady of
the Mughal Royal House ?

(@)
(b)
(c)
(d)

Akbar Nama
Babur Nama
Humayun Nama

Badshah Nama



116. fifera sma w fomm Al -
P— ik
\&—— BT 8T

/ N
l/ \l <——A
\

)
N\

7

/é 39 <@ ufgat
waﬁ%ﬁa@a

T g Tw @ & A § F wifed 27
(a) SiEgH

(b) R T

(c) g g

(d) T gamd

117. 9eafl % 9 3R IgAvSA & a9 &1 hi
T gere fooward #1 Fefafae # @
FA-TT TH, Tl (Y98 8 FW & 3{N)
F1 uel fo=ma 27
(@) TATEERR—aHATHUS— & HUEd
(b) ATUETA—IHEH R —aHATIHvS e
(c)  ETHISA—HHATHISA—AHEEIIT

(d) TIRE R —a IS —aHa S

P-DETB-M-HL/66A
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118. s vl & an A Fr=fafaa & @ -
T o TE A 87

(@) A TG 9 B

(b) ¥ WeF g H YA wda F g
TAMI % FIN-91Y I 8

(c) ¥ 3T MY Fgd aW A &

(d) I8 FHW H A T g

119. f=fdfaas & & 9-w1 ™ wyg semE
] & 91 H 9oy Tl 87

(a) I8 SRR faf i =reren off

(b) W& YE-AUMANE wE F A
3 Tl af @/ g  off

(c) Tz AufERmE TE % gaE ¥ qea
& T

(d) a7 Tafma & suanga At =
deawt § gaaw off fras g iy
IR § HA qEGL aREEiia gt o

120. Ffafad & @ #=9-H w fhae ‘g
el afEr i ue Afgen 7§ foredt 27

[ ’

(o) THSEH

[ ’

(b) ST

[4 3 ’

RIS

‘ ’

FTRITEAH

(c)

(@)

[P.T. O.
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W A% T g7 AT gt Tie W 7 et We 9" de A Wil

1.1, : P-DETB-M-HL wliemr gieaert sgen

FH T
137881 OieIUT GiEeRT A
AH I

aug ; §t que quites : 100

. T8 vhEn gfer W oy # R e Fiwsw d e e

AJF A

. Them TREN B 3 g A, S 3 e gite $Y ugaret sEva o o fn e i o o, we

a1 G EI YB a1 WA SRR 7 € aR v R, 9 5@ vt whew g @ @g@ wfwel

. HUAT &R W@ OMR IW-U5% #, 3Fe T W, Ue TR iR wigor giwat 3 q&w A, B, C &1

Dﬁ,mﬁ@ﬁm%ﬁa@mﬁ@ﬁ%wﬁaﬁtwwﬁaﬁwmﬁ%lﬁmﬁ
oft wr d /Rty 6y fafe § sw-uss e = Ran wmm)

g fore 31 whem gfe W R g 7 o

. 78 wle g § 120 vein (7) R me §) v i R o siift J s R) weas s =0

g (aw) R T # | T & o el B A o, R o m-meE W iR e wied € i s T
N i TF Y o Yoo T ¥, T 36 UG i SifRd i S SR waEtew @ | ek S o o e
TF B/ TG T R

ST o @l TR ot ¥ fiu M Sw-we WA R we § sw-w § feg e e dfa

. aft S % WEE g
. 760 e B ane whew qfEe ¥ AR i b oee IO-u WA w0 e i, A e

qaO-uF A A R 6 AgER 9 faew Twm-wE 4 E|
A A G TegEl B IE-TAE W % AT qo T A WS IR-TEE Al B 2
SR T @Y ahee giEe S F eEfd R

. FS FW % U e e g & oo | g g
10.

Tera W % fore gue

e YR-uE & sefer g Ry T e swd & for que R e

(i) T T % e A A S ¥ IRfieEn g v W & e fRu e wE e 3 % for 5w 7
frgd fre o o = vw-fErd (0-33) TE F W H HRT AT

(i) af Fré TrieaT T @ i I 30§, A T Ter I A ST, qefy R T Sed A | ok Iw el
B 2, B oft 3@ v ¥ fe Sedeigen € sH @ W ave e o

(iii) 7R IFRET g0 g WA T T R S g, arfq Irfiear g 3wt A e S R, @ 39 9w % fo
wé Tug T fen o

IS T S Tg T Yiere GieM T HE WY 79 996 7 @

Note : English version of the instructions is printed on the front cover of this Booklet.



